Review 5.1 & 5.3 C
Find the slope of each line.
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Find the slope of the line through each pair of points.

3) (14, 13), (-14, 11) 4) (18, -7), (-5, -13)

Find the slope of each line.

7 6) y=—x—5
5) y=——x—-4 ) y=x
5
Sketch the graph of each line.
7 3x+y=3 8) 2x+5y=10
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9) y=—2x-5 1
) y=-2x 10) y=-_x-2

L.
>

= N W B th q

A
Y

A
Y

26 5 -4 B 2o 2 L

[

th » W

]
[

Y -
Y
3 5
11) y=_zx 12) y:Zx—4
A A
Tk Bbhdio i S s B b dto A i
Y Y

Write the slope-intercept form of the equation of each line.
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‘Write the slope-intercept form of the equation of each line given the slope and y-intercept.

15) Slope=1, y-intercept=-3 2
) Slope y-intercep 16) Slope=g, y-intercept = —1

‘Write the slope-intercept form of the equation of each line.

17) 13x—-2y=-12 18) -1=x+y



